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e |
2016 (A) v
SSC PART-I (10th CLASS) W7ie,
THEMATICS (SCIENCE GROUP) (@) V1) Lf';:
GRDU’P"I ﬁi‘; = hr'r!
TIME ALLOWED: 2.10 Hours SUBJECTIVE b2 La0 = ;;
MAXIMUM MARKS: 60 e .
NOTE: - Write same question number -g_&;:pﬁ;.{,girﬁé Lot Insudide -

and its part number on answer book, as given in the question paper.
SECTION- sl

2. Attempt any six parts 12=2x6 éff-llfﬁlﬂi’ﬂ-df 2/l
) Define Exponential Equation. ..z{...n'fd»:.,iﬂf i )
(i) Solve by Factorization:-  5x” = 15x 5 = 15% -SJUf2s ()
(i) ~Find the Discriminant of the Equation. 45’ - Tx-2=0 LG (W)

(iv) Without solving, find the sum and product of the roots of the equation. ot B CIP ()
3¢t Bx +7=0
Lo l+% AL 4 - serB=0cbls B @S W)
Loedl

1l
(v) If wand P are roots of the equation 4x’ —5x+ﬁ 0 find value of —

o i P

(i) Whitethe quadratic equation having rools Feigame —2,3 U w
(vii) Define Proportion and give an example. )i \Kp -é:dﬁrﬁé-ifu‘f {v_u“}
(vi) Find the fouth proportional of 8, 7, 6 8, 7,6 &P b0 (i)
() I 3(4x—Sy)=2¢-Tythenfnd X1y 4 ¥y jn 3(4x-5y)=2x- A W

Eifewlmglf

3. Attempt any six parts.
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t
"* lﬂ 5@
I. - - i *&Ss‘
12226 S LT A N
= -] - T "J-?.
4, Attempt any six parts. LA, L Q_@t‘.? S
O W

- £ R
() Convet — radian 1o degree.
° 25)'.{ '?'.étrpﬂ [ ﬁ"&ﬁf

-

f:"lj)’f e

R
(i) Find 6 when / =45m, p=25m | : \gj\

- e LB w
(i} Simplify expression to a Single Trigonometric Function i

A O

{[:1 o mnmmmﬂanduedhnmmmmham -f;.hfméww}uff*’id‘”’”&—*"J-t’ )
(v) Ev::::m. EaABts i
(vi) Define the Circumference of a Circle £..nﬂj’j££j=: (i)
(vil) Define a Cyclic Quadrilateral. éJﬂJ ARkl (vi)

Eafhnde

(ix) Define the Escribed Circle.

SECTION-II (. _ _
- =83 0 S fe L e B

mpt an maqqmuuns but question No.9 is compulsory.
iation by completing square. 7(x + 2a)’ +3a’ =5a(Tx+23a) .édgdffi.}.w ()5

J.L-Ivnr} U*-I-t:i“f} {]+Jﬁﬂi'l ) Trw ) Infactors = 1 ‘(Edl_' = )

Tt 5=5=7 S (.6

A AN

HB={23,4,58) A={1.3,57,9 f (U

{1,2,3, ~=——, 10} R E

ESAG (L)
.‘gf_{a:l ()-8
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2016 (A) Ay
§SC PART-Il (10th CLASS)
EMATICS (SCIENCE GROUP) o FOd
ROUP-I ot |
TIME ALLOWED: 2.40 Hours SUBJECTIVE SELo £a10 =
MAXIMUM MARKS: 60 60 = Af
NOTE: - Write same question number ..:..E-,;:L,Ci.,;,._llr,f}:_éb::f:z;ﬂ;}dlrﬁs{QfL}[ﬂ o

and its part number on answer book, as given in the question paper.
SECTION-| il

2. Attempt any six parts. 12=2x6 é;f_atliﬁl,?l; =.Js" .-E/U!r'
() Define Quadratic Equation and give an example. -é:._,lfmu,{...g fJ._,m,aﬁﬂu i)
(i) Solve by Factorization. 4 - 32x = 17x’ 4-32x=17x _érd'dﬁ.fu,- (i) |
(ii) - Define Symmetric Function. ZafiSe ()

(iv) Use Synthetic Division Lo find the quotient and the remainder, when:- .ﬁéﬂ”di sﬁ_-.-"U"lpLﬁLfdh'-ﬂ:E‘-:i{ s )
(4" -5x+15)+ (x+3)

(v) Write the quadratic equation having roots -2, 3 ,c,*.‘,ﬂ..-.-hL--Lim:; ~2,3 J’u (v)

(vi) Ifex, B are the roots of the LIS ' Ul 4 -5x46=0 Mep oo A )
equation 4x' — 5x + 6=0 , then find the value of a’p’

(vii) Define Proportion with an example. -é&;ﬁéﬁﬂ_fﬁ {vii}

wil) Finda i theralios a + 3:7 + & and 4 = 5are equal

(ix) Find Third Proportionalto &7, 34’ f

3. Attempt any six parts.
(il What is Improper Fraction?

&'JJ&%:’H 54 a+3:T+a = (il

@, 3a -EPAE W)

_&ﬂwﬂ;u;gif KA
By i < ek 0
rl.t 3 Jrrlilz[g.}b}f; ﬂ]. m

ﬂ

(i) IF -"'“{Lm"!is'} e
and ¥=124,59) henfindXUx
{H"‘ F ol '[- __', E


http://www.result.pk

3 (2) -jéq. «'h

fan x SInX secx £ Qﬁ"'
: % g
fil) Simplify - tanx sinx seex e \?{é
5 = ) . ?‘ R
éﬂh’ miB B c=8om A b=15cm & :*
() InaadBC, a=1Tem b=15cm wi o ham e Y i e r'u(ff e qej
JARY .....ruu..,n._.u Iy
(vi Differentiate between Chord and an Arc of 8 Circle. éuh ‘LU’HU ; 'L?::
i o b
e Alore i
(vili) Define Circum Angle, il}g 3 J;}-Z Lu;;il;z_ﬁ.{.);"h fix)
(1X) How many common tangents can be drawn for two touching circles? ket
SECTION-II (e : & _
24=8x3 Uil oA fesfenl s Vrfed] -2
NOTE: - Attempt any three questions but question No.9 is compulsory. :
5(A)  Solve by Factorization x4, x 2 ES i (D)5

x #+1 12

. Sletf3a -2p =4 .}L'Z._L:l)’uﬁ ¥ +7x+3Im-5=0 QTJV)’L.H{(P"EJM ()
(B) Find m, ifthe roots of the equation x* + 7x + 3m - 5 = 0 satisfy therelation X — 2f =4

Sy 23 - O =S R AN e SO V()6

(x+3Y +(x=-5)" 5

Using theorem of companendo-dividendo W OSEER. - Ciata o !
R i , Solve the equation. (e 3y FEx-5) 5

-g?fdﬁﬁu:/d:zf ITE-—:— {'r}

2x =3

ASH18,57.9), B={2357) A (.7
(ANBY = AUB . Lobi

k)P J,;%g —ehulel (2 urS Yo sl Jes fes)
mgmm Siandard Deviation 5

5 ! 1

445 A3 il
el ()8
v i MLKE 8 (L)
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R CODE 2016 (A) A
7196 SSC PART-II (10th CLASS)

THEMATICS (SCIENCE GROUP) (o O

GROUP-I s - t)
TIME ALLOWED: 20 Minutes OBJECTIVE (372 w20 = =N
MAXIMUM MARKS: 15 15 = f.f-.f

A i} s o3 e R S e i b g QHdIR gEi D CBIA syl Jins
o et L 24 Bubbles PR T e P ik L LS tiel <22
Mote: You have four cholces for each objactive type question as A, B, C and D. B0 e O g
The choice which you ihink |s correct, fill that circle in front of that quostion number. Use markor ar pen
to fill the circles, Gutting or filling two of More circles will result in zero mark in that question, Attempt as
many quostions as given In objective type question paper and leave others blank, No erodit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) The set having only one element is called - ~--:—Fl"-'r e L (1)
(A Nullset ofe (B Powerset Lrp (G Singleton set r 0 (D) Subsel 2r

(2) Power set of an emply set is:- ..-,-.'m.'..;'.a:l;f.:.:-dﬁ- {2}
(A) & B tal (Crid.lall Oyid )

(3 The spread or scattermness of observations in a data sel is called:- -2 Ets Hf.mhbﬁarru; {3)
(A) Average b (B) Dispersion ,&51  (C) Central tendency wia§d (D)Range =

(4) SecO=___ et Sec’s  (4)
(A) 1 - tan’0 (B) 1 + cos’B (C) 1+ tan’@ (D)1 - sin'@

(5) The distance of any point of the circle o s centre s called - e LN FLem  ©
(A) Radius /1 (B) Diameter & (C)Achard L1 (D)yAnarc 3L

Y '-"_. ; ifu.i:d_;u:f&ﬁﬁhfﬂ: (&)
: D) Perpendicular ¥
I § et 180° _uisTpkemh (M

(6) Tangents drawn at the ands of diameter of acircle are ___
1o each other. (A) Parallel (317 (B} Nonparallel e

(7) 1 the chord of a circle subtends a central angle of 1 :
{hen the length of the chord will bet-

(A} Less than the radial m‘nt;" A

(C) Double of the radial segment W57 ent e/l

) nth bgwe O s o conec oo g s 8- < o £ OFKASE O

(A)55"  (B)110° (C)220° Ny 125%. et - NS e : ¥i
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2016 (A) A

$SC PART-II (10th CLASS)
THEMATICS (SCIENCE GROUP) (/) S
X by -/
TIME ALLOWED 20 Minutes OBJECTIVE d".,-'_v’_.p o2 = h
MAXIMUM MARKS 15 6= AF
TR e ke

da oy Sl JoL ol i S il i NI ke P S WJi 4 D
2 Faviaddlita il fiy Bubbies P W R LL!JU"":&J‘--F -1

st Y have feur sholses for sath sihjective typs question 88 A, B, C and o L Aa S ralirg g

Tha o fusies which you iink s uﬂanmmuhrﬂuﬂﬂtﬂqu.unmrhrﬂ-lﬂ

IS URT R mﬂmmum-mwﬂhmmmmmnﬂm-hw“

vy e linae as yleen in mhﬁwp—p—-umnmmu.unnuﬂumummﬂ |

i o wae MUMIHLES are oot Rlled hnﬂulnnrﬂlmunﬂuh-phulﬂnlﬂcmrnﬂl

QNe.1 A A

1) The sokion set of squation 4x’ - 16 = 0 eieV Ax ~16=0 gt (Y
CRELR CRER ic) {22} (o) £2

(71 Product of cube roots of unity ,,.;_.,.Mr.,..ﬂu;ff_'..jﬂ (2) ‘
iA) O @ 1 cy -1 @ 3

@ a’ o B inequete -tz P N
Ma'-p’ () I:, . t: Cria+p')-2ap D) a4 p |

(4} The fourth proporional w of Xy 2 ViWw ja- u_:..c-.ew...-r::l.ig._ﬁ By 11 v WEEe)
Ay 22 TR (C) *¥¥ (0) ;E;

() Pnd ¥ Ingropaion 4 : x T L ® £ 4:ix 0 5:15F (8)
(&) L. i) : {Ci 3 o} 12

i :-|1 : .-.' P |

N T e Whepmiaion S + SO vy
(8] An impropar frachon —f’.,.:-ré (C) An identity =t (D) A constan tenm f.d""

(7} Powar set of an empty sel is - ,.:_ne.g.:ﬂy_-.,:-.ju (N
(A ®) fa} | . ofs}

8) The number of elements in power set of {1, 1&%&4;:{1,1,3} (8
(A) 4 @8) 8 (D) @

(9) The most frequent occuring observation s cal e Ligmpientins” @)
(A) Mode 1 (8) Medckan -+ Harmonic mean bAST4 (D) Data s

(10) 20° = _____
(A) 360 (8) 630

(11) Acircle can pass through ___

(8)
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